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I: xdx

Solution:
It is known that,

[t (x)dx:(b—a)lim%[f (a)+ f(a+h)+..+ f (a+(n-1)h)] whereh =b—nal
Here,a=a,b=b, and f (x)=x

_[:xdx:(b—a)limi[a+(a+h)...(a+2h)...a+(n—1)h]
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Solution:

b
LetI:J (x+1)dx
0

It is known that,

[ £ ()ax=(b—a)lim=[ f (a)+ f (a+h)-+..+ f (a+(n-1)h)], where =b—n""

n—oo n

Here,a=0,b=5, and f (x)=(x+1)
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Jj x2dx

Solution:
It is known that,

I:f(x)dx:(b—a)lim%[f(a)+f(a+h)+f(a+2h)...+f{a+(n—1)h}],whereh=b—na
Here,a=2,b=3, and f (x)=x*
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Solution:
Let | =I14(x2—x)dx

=j4 xzdx—rxdx
1 1
Let I =1,—1,, where |, :_[14x2dx and I, =_[14de (1)

It is known that,

[t (x)dx:(b—a)!m%[f (a)+ f (a+h)+ f (a+(n—1)h)], where h =bLn""
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Forl, = f xdx,

a=1b=4, andf (x)=x
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From equations (2) and (3), we obtain
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Solution:

1 X
Let | =Le dx (1)
It is known that,

Here,a=-1b=1 andf (x)=¢"
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Solution:
It is known that,
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I: f (X)dxz(b—a)!m%[f (a)+ f(a+h)++f(a+(n-1)h)] Wherehzb—na

Here,a=0,b=4, and f (x)=x+e*
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